FORMAT I

Office of the Deputy Conservator of Forest Social Forest Division Bharuch

No.: C/LND/T./65-69/2016-17

Date: 7.06.2016

To,
The Director (Policy & Corporate Affairs & HR & Admin.)
Gujarat Gas Limited
9th Floor, Avdhesh House,
Opp. Shri Govind Gurudwara,
S.G. Highway,
Ahmedabad — 380054,
Gujarat.

Sub. : Proposal for Grant of permission for Protected Forest land admeasuring in Taluka Ankleshwar, Jambusar, Amod, Valia, Bharuch and Jhagadla of District Bharuch 4.3892 ha. for various GGL Works.

- Laying of 90mm Dia PE Gas Pipeline for developing PNG infrastructure in Valia Bharuch GA clusters.
- (ii) Laying of 125mm dia PE Gas Pipeline for developing PNG connection at Shubham Residency, Amod, Kondh, Vataria, Dehgam & surrounding villages, Kelod village, Tankariya & its surrounding areas, Chavaj, Patuthan and back feed existing PE network at Rahadpore, Hingalla, Sitpon, Parkhet and Pariej villages, Kara village, Panoli and Umarwada villages, Palej, Palej GIDC, Kamboli, Kishnad, Varediya and to upgrade current Daughter booster station to online station at Palej, Gumandev Temple, along Hansot Road under online PE extension & Vyline Glass Ltd. via Fulwadi & Kapasadi villages.
- (iii) Laying 101.6 mm dia Steel Gas Pipeline for developing PNG infrastructure in Chavaj, Hingalla, Nabipur and its surrounding areas.
- (iv) Laying of 152.4 mm dia Steel Gas Pipeline to develop and extend city Gas distribution to village Kondh, Vataria, Chavaj, Hingalla, Nabipur and its surrounding areas.
- (v) Laying of 203.2 mm dia Steel Gas Pipeline to develop PNG Distribution Network for Palej, Palej GIDC, Kamboli, Kishnad, Tankaria and Varediya and to upgrade current Daughter Booster Station to Online Station at Palej and Arnod and nearby area
- (vi) Laying of 304.8 mm dia Steel Gas Pipeline to develop PNG distribution for Dehgam village, Chavaj, Hingalla, Nabipur and its surrounding areas

Ref. : 1. Government of Gujarat, Forest & Environment Department Letter No. FCA/1015/1013 /15/SF-83F (I), Dt. 04/02/2015.

- Government of Gujarat, Forest & Environment Department Letter No. FCA/1015/1013/15/SF-83/F, Dt. 03/05/2016.
- Officer (RoU), Gujarat Gas Limited, Ahmedabad's Letter No. GGL/Bharuch GA/PF/2016/01, dtd. 04.04.2016.

Sir.

I am directed to invite a reference to your letter no. GGL/Bharuch GA/PF/2016/01, dtd. 04.04.2016 on the above mentioned subject seeking prior approval of the Government under Section-2 of the Forest (Conservation) Act 1980 as per following:

BHARUCH

ſ			· · · · · · · · · · · · · · · · · · ·		-					
Sr.		Route	Particulars /	Along/	Chair	age (m)	Length in	RoU	Area in	Total Area
No.		No.	Details for laying	Across	From	То	Forest (m)	Width in Forest Land (m)	Forest Land (sq.m)	in Forest iand (Ha)
1	2	3	4	5	- 8	7 ',	8	9	10	11
1	PE Pipe Line laying permission (Across the Road) is required from R & B Department for PNG connection at Shubham Residency Ankleshwar	1	OLD NH-8 (SURAT- BHARUCH)	ACROSS	0.00	24.00	24.00	0.375	9.00	0.0009
2	To develop PNG Distribution Network for Palej, Palej GIDC, Kamboli, Kishnad, Tankaria and Varediya and to upgrade current Daughter Booster Station to Online Station at Palej	2	NH-8 (Ahmedabad- Mumbai)	ACROSS	223.72	284.64	60.92	0,610	37.14	0.0037
3	To develop PNG Distribution Network for Palej, Palej GIDC, Kamboli, Kishnad, Tankeria and Varadiya and to upgrade current Daughter Booster Station to Online Station at Palej	3	SH(Bharuch- Tankariya- Palej)	ACROSS	1761.86	1797.32	35.66	0.610	21.74	0.0022
4	To develop and extend city Gas distribution to village Kondh	4	SH-13 (ANKLESHW AR- NETRANG)	ALONG	0.00	235.37	235.37	0,457	107.61	0.0108
5	To develop and extend city Gas distribution to village Kondh &To develop PNG distribution in Kondh, Vstaria and Dodhwada villages of Bharuch district	4 & 14	SH-13 (ANKLESHW AR- NETRANG)	ALONG	258.37	515.28	252.91	0.457	129.35	0.0129
6	To develop PNG Network and connections for AMOD and nearby area	5	NH-228 (Amod To Bheruch) (Dandi Merg)(Dandi- Ahmedabad)	ACROSS	1110.16	1143.90	33.74	0.610	20.67	0.0021
7	To develop PNG Network and connections for AMOD and nearby area	6	NH-228 (Amod To Bharuch) (Dandi Marg)(Dandi- Ahmedabad)	ALONG	1143.90	6790.70	5646.80	0.610	3442.29	0.3442

1	2	3	4	5	6	7	8	9	10	11
8	To develop PNG Network and connections for AMOD and nearby area	5	NH-228 (Amod To Bharuch) (Oandi Marg)(Dandi- Ahmedabad)	ACROSS	6790.70	6818.45	27.75	0.610	16.92	0.0017
9	To develop PNG Network and connections for AMOD and nearby area	5	NH-228 (Amod To Bharuch) (Dandi Marg)(Dandi- Ahmedabad)	ALONG	6818.45	9969.00	3150.55	0.610	1920.58	0.1921
10	To develop PNG Network and connections for AMOD and nearby area	5 & 8	NH-228 (Arnod To Bharuch) (Dandi Marg)(Dandi- Ahmedabad)	ALONG	9969.00	10609.00	640.00	0.610	390.14	0.0390
11	To develop PNG Network and connections for AMOD and nearby area	6	NH-228 (Arnod To Bharuch) (Dandi Marg) (Dandi- Ahmedabad)	ALONG	19.17	3606.00	3586.83	0.375	1345.06	0.1345
12	To develop PNG Network and connections for AMOD and nearby area	7	NH-228 (Amod To Bharuch) (Dandi Marg)(Dandi- Ahmedabad)	ACROSS	0.00	32.00	32.00	0.375	12.00	0.0012
13	To develop PNG Network and connections for AMOD and nearby area	9	NH-228 (Amod To Bharuch) (Dandi Marg)(Dandi- Ahmedabad)	ACROSS	0.00	29.48	29.48	0.375	11.06	0.0011
14	To develop PNG Network and connections for AMOD and nearby area	9	NH-228 (Arnod To Bharuch) (Dandi Marg)(Dandi- Ahmedabad)	ALONG	29.48	990.00	960.52	0.375	360.20	0.0360
15	To develop PNG distribution for Dehgam village	10	NH- 228(Dandi Marg)(Ahmed abad-Dandi)	ACROSS	0.00	18.38	18.38	0.914	16.81	0.0017
16	To develop PNG distribution for Dehgam village	10	SH-6(DAHEJ- BHARUCH)	ALONG	660.50	1942,55	1282.05	0.914	1172.31	0.1172
17	To develop PNG distribution for Dehgam village	10	SH-5(DAHEJ- BHARUCH)	ALONG	2020.17	3797.00	1776.83	0.914	1624.73	0.1625
18	To develop PNG distribution in Kondh,Vataria and Dodhwada villages of Bharuch district	11	SH-13 (VÄLIA - ANKLESHWA R)	ACROSS	0.00	24.00	24.00	0.375	9.00	0.0009
19	To develop PNG distribution in Kondh.Vataria and Dodhwada villages of Bharuch district	12	SH-13 (VALIA - ANKLESHWA R)	ALONG	0.00	3182.47	3182,47	0.375	1193.43	0.1193
20	To develop PNG distribution in Kondh, Vataria and Dodhwada villages of Bharuch district	12	SH-13 (VALIA - ANKLESHWA R)	ACROSS	3182.47	3204.40	21.93	0.375	8.22	0,0008

1	2	3	4	5	6	7	8	9	10	11
21	Dodhwada villages of Bharuch district	12	SH-13 (VALIA - ANKLESHWA R)	ALONG	3204.40	3214.23	9.83	0.375	3 69	0.0004
22	Dodhwada villages of Bharuch district	13	SH-13 (VALIA - ANKLESHWA R)	ACROSS	0.00	24 76	24.76	0.375	9.29	0.0009
23	To develop PNG distribution in Kondh,Vataria and Dodhwada villages of Bharuch district	13	SH-13 (VALIA - ANKLESHWA R)	ALONG	24.76	262.00	237.24	0.375	88.97	0.0089
24	To develop PNG infrastructure in Valia village of Bharuch district	15	SH- 165(VALIA- MANGROL)	ACROSS	0.00	14.94	14.94	0.375	5.60	0.0006
25	To develop PNG infrastructure in Valia village of Bharuch district	15	SH- 165(VALIA- MANGROL)	ALONG	14.94	303.00	288.06	0.375	108.02	0.0108
26	To develop PNG infrastructure in Valia village of Bharuch district	16	SH- 185(VALIA- MANGROL)	ALONG	91.11	430.44	339.33	0.375	127.25	0.0127
27	To develop PNG Infrastructure in Valia village of Bharuch district	16	SH- 165(VALIA- MANGROL)	ALONG	472.90	833.00	360.10	0.375	135.04	0.0135
28	To develop PNG infrastructure in Valid village of Bharuch district	17	SH- 165(VALIA- LIMET- SELOD- JHAGADIA)	ALONG	0.00	402.69	402:59	0.375	151.01	0.0151
29	To develop PNG infrastructure in Valia village of Bharuch district	17	SH-13 (ANKLESHW AR- NETRANG)	ALONG	402.69	975.00	572.31	0.375	214.62	0.0215
30	To develop PNG Infrastructure in Valia village of Bharuch district	18	SH- 165(VALIA- LIMET- SELOD- JHAGADIA)	ACROSS	0.00	13.33	13.33	0.375	5.00	0.0005
31	To develop PNG infrastructure in Valia village of Bharuch district	18	SH-13 (ANKLESHW AR- NETRANG)	ALONG	13.33	902.00	888.67	0.375	333.25	0.0333
32	To develop PNG infrastructure in Valia village of Bharuch district	19	SH-13 (ANKLESHW AR- NETRANG)	ACROSS	0.00	21,86	21:86	0.375	8.20	0.0008
33	To develop PNG Infrastructure in Valia village of Bharuch district	19	SH-13 (ANKLESHW AR- NETRANG)	ALONG	21.86	252.00	230.14	0.375	86.30	0.0086
34	To develop PNG infrastructure in Valia village of Bharuch district	20	SH-13 (ANKLESHW AR- NETRANG)	ACROSS	0.00	24.28	24.28	0:375	9,11	0.0009
35	To develop PNG infrastructure in Valia village of Bharuch district	21	SH-13 (ANKLESHW AR- NETRANG)	ACROSS	0.00	25.62	25.62	D.375	9.61	0.0010
	To develop PNG infrastructure in Valia village of Bharuch	21	SH-165 (VALIA- LIMET-	ALONG	25.62	774.00	748.38	0.375	280,64	0.0281

1	2	3	4	5	6	7	8	9	10	11
	district		SELOD- JHAGADIA)							
37	To develop PNG infrastructure in Valia village of Bharuch district	22	SH-13 (ANKLESHW AR- NETRANG)	ACROSS	0.00	25.00	25.00	0.375	9.38	0.0009
38	To develop PNG infrastructure in Valia village of Bharuch district	23	SH-165(VALIA TO MANGROL)	ALONG	106.76	332.00	225.24	0.270	60.81	0.0061
39	To develop PNG infrastructure in Valia village of Bharuch district	24	SH-13 (VALIA- ANKLESHWA R)	ACROSS	0.00	24.00	24.00	0.375	9.00	0.0009
40	To develop PNG infrastructure in Dehgam and surrounding viltages of Bharuch district	25	SH-6 (BHARUCH- DAHEJ)	ALONG	0.00	4360. 0 0	4360.00	0.375	1635.00	0.1635
41	To develop PNG infrastructure in Dehgam and surrounding villages of Bharuch district	26	SH-6 (BHARUCH- DAHEJ)	ACROSS	9.90	37.95	37.95	0.375	14.23	0.0014
42	To develop PNG Infrastructure in Dehgam and surrounding villages of Bharuch district	26	SH-6 (BHARUCH- DAHEJ)	ALONG	37.95	693.99	656.04	0.375	246.02	0.0248
43	To develop PNG infrastructure in Defigant and surrounding villages of Bharuch district	27	SH-6 (DAHEJ- BHARUCH)	ACROSS	0,00	40.00	40.00	0.375	15.00	0.0015
44	To provide PNG connection to Gurnandev temple on Ankleshwar Rajpipla road near Jhagadia viltage	28	SH- 165(VALIA- LIMET- SELOD- JHAGADIA)	ACROSS	0.00	19.00	19.00	0.375	7.13	0.0007
45	To provide PNG connection to Gurnandev temple on Ankleshwar Rajpipla road near Jhagadia village	28 `	SH- 165(VALIA- LIMET- SELOD- JHAGADIA)	ALONG	19.00	40.22	21.22	0.375	7.96	0.0008
46	To provide PNG connection to Gumandev temple on Ankleshwar Rajpipla road near Jhagadia	28	SH-64 (ANKLESHW AR- JHAGADIA)	ALONG	40.22	3741.00	3700.78	0.375	1387.79	0.1388
47	village To build PNG infrastructure in developing areas along Hanaotroad under online PE extension at Ankleshwar	29	NH-228 (HANSOT- ANKLESHWA R)(DANO! MARG)(DAND I- AHMEDABAD	ALONG	0.00	1441.59	1441.59	0.375	540.60	0.0541
46	To build PNG infrastructure in developing areas along Hansot road under online PE extension at Ankleshwar	29	NH-226 (HANSOT- ANKLESHWA RXDANDI MARGXDAND I- AHMEDABAD	ACROSS	1441,59	1482.87	21.28	0.375	7.98	0.0008

1	2	3	4	5	6	7	8	9	10	11
49	To develop PNG infrastructure in Kelod and its surrounding villages in Bharuch district	30	SH- 64(AMOD- BHARUCH)	ALONG	96.54	9329.19	9232.65	0.375	3462.24	0.3462
50	To develop PNG infrastructure in Kelod and its surrounding villages in Bharuch district	31	SH- 64(AMOD- BHARUCH)	ACROSS	0.00	28.88	28.88	0.375	10.83	0.0011
51	To develop PNS infrastructure in Kelod and its surrounding villages in Bharuch district	32	ASPHALT ROAD(DAYA DARA- NABIPUR- ZANOR)	ALONG	0.00	586.00	586.00	0.375	219.75	0.0220
52	To develop PNG infrastructure in Kelod and its surrounding villages in Bharuch district	33	ASPHALT ROAD(DAYA DARA- NABIPUR- ZANOR)	ACROSS	0.00	10.10.	10,10	0.375	3.79	0.0004
53	To develop PNG infrastructure in Kelod and its surrounding villages in Bharuch district	33	ASPHALT ROAD(DAYA DARA- NABIPUR- ZANOR)	ALONG	10.10	418.00	407.90	0.375	152.96	0.0153
54	To develop PNG infrastructure inTankeria and its surrounding villages in Bharuch district	34	SH(Bharuch- Tankartya- Palej)	ALONG	0.00	7398. 55	7398.55	0.375	2774.46	0.2774
55	To develop PNG infrastructure in Tankaria and its surrounding villages in Bhanuch district	34	SH(Bharuch- Tankariya- Palej)	ALONG	7490.13	8917.00	1426.67	0.375	535.08	0.0535
56	To develop PNG infrastructure inTankaria and its surrounding villages in Sharuch district	: 35	SH(Bharuch- Tankariya- Palej)	ALONG	0.06	14.37	14.37	0,375	5.39	0.0005
57	To develop PNG infrastructure inTenturia and its surrounding villages in Bheruch district	35	SH(Bharuch- Tankariye- Palej)	ACROSS	14.37	30.12	15.75	0.375	5.91	0.0006
58	To develop PNG infrastructure inTankaria and its surrounding villages in Bhanch district	35	SH(Sharuch- Tankariya- Palej)	ALONG	30.12	945.00	914.68	0.375	343.08	0.0343
59	To develop PNG infrastructure inTenkaria and its surrounding villages in Bharuch district	36	SH(Bharuch- Tankariya- Palej)	ALONG	0.00	906.00	906.00	0.375	339.75	0.0340
60	To develop PNG infrastructure inTankarie and its surrounding villages in Bharuch district	37	SH(Bharuch- Tankariya- Palej)	ACROSS	0.00	17.72	17.72	0.375	6.65	0.0007
61	To develop PNG infrastructure inTankeria and its surrounding villages in Bharuch district	38	SH(Bharuch- Tankariya- Palej)	ACROSS	0.00	35.66	35.66	0.375	13.37	0.0013
62	To develop PNG infrastructure inTankaria and its surrounding villages in	39	SH(Bhanich- Tankariya- Palej)	ACROSS	0.00	19.00	19.00	0.375	7.13	0.0007

1	2	3	4	5	6	7	8	9	10	11
	Bharuch district					7		<u> </u>	T	
63	To develop PNG infrastructure inTankaria and its surrounding villages in Bharuch district	40	SH(Bharuch- Tankariya- Palej)	ACROSS	0.00	16 00	16.00	0.375	6.00	0.0006
64	To develop PNG infrastructure in Chavaj, Paguthan and back feed existing PE network at Rahadpore village	41	SH(Bharuch- Tankariya- Palej)	ALONG	992.43	1885.00	892.57	0.375	334.71	0.0335
65	To develop PNG infrastructure in Chavaj, Paguthan and back feed existing PE network at Rahadpore village	43	SH(BHARUC H- TANKARIYA- PALEJ)	ACROSS	0.00	16.59	16.59	0.375	6.22	0.0006
66	To develop PNG infrastructure in Chavaj, Paguthan and back feed existing PE network at Rahadpore village	 43	SH(BHARUC H- TANKARIYA- PALEJ)	ALONG	16.59	127.00	110.41	0.375	41.40	0.0041
67	To develop PNG infrastructure in Hingalla, Sitpon, Parkhet and Pariej village of Bharuch district	44	SH (BHARUCH- TANKARIYA- PALEJ)	ALONG	0.00	4635.00	4635.00	0.375	1738.13	0.1738
6 8	To develop PNG infrastructure in Hingella, Sitpon, Parkhet and Pariej willage of Bharuch district	45	SH (BHARUCH- T ANKAR IYA- PALEJ)	ACROSS	6.06	17.33	17.33	0.375	6.50	2.0006
69	To develop PNG Infrastructure in Hingalla, Sitpon, Parkhet and Pariej village of Bharuch district	45	SH (BHARUCH- TANKARIYA- PALEJ)	ALONG	17.33	179.79	162,46	0.375	60.92	0.0061
70	To develop PNG infrastructure in Hingalia, Sitpon, Parkhet and Pariej village of Bharuch district	46	ASPHALT ROAD (DAYADARA- NABIPUR)	ACROSS	0.00	28,10	28.10	0.375	10.54	0.0011
	To develop PNG infrastructure in Hingatte, Sitpon, Parkhet and Pariej village of Bharuch district	46	ASPHALT ROAD (DAYADARA- NABIPUR)	ALONG	28.10	3349.00	3320.90	0.375	1245.34	0.1245
72	To develop PNG Infrastructure in Hingalle, Sitpon, Parkhet and Pariej village of Bharuch district	47	ASPHALT ROAD (DAYADARA- NABIPUR)	ACROSS	0.00	28.00	28.00	0.375	10.50	0.0011
73	To develop PNG infrastructure in Hingalla, Sitpon, Parkhet and Pariej village of Bharuch district	48	ASPHALT ROAD (DAYADARA- NABIPUR)	ACROSS	0.00	28.00	28.00	0.375	10.50	0.0011

	1	2	3	4		6	7	- 1 - 2-			
	74	It is proposed to install a DPRC at Jhagadia GIDC by taking tap-ofrom 10° valve chamber JMSD 022 in Jhagadia GIDC. PE mains will be extende up to industrial prospect M/S Vyline Glass works Ltd. The pipeline will also cater to Two villages namely Fulwedi & Kapalsadi enroute to M/S Vyline Glass works Ltd.	ff d 49	SH-64 (ANKLESH) AR- JHAGADIA)	N ACROS			8 32.94	0.375	12.35	0.0012
	75	It is proposed to install a DPRC at Jhagadia GIDC by taking tap-off from 10° valve chamber JMSD 022 in Jhagadia GIDC. PE mains will be extended up to industrial prospect M/S Vyline Glass works Ltd. The pipeline will also cater to Two villages namely Fulwadi & Kapalsadi enroute to M/S Vyline Glass works Ltd. To develop PNG		SH-64 (ANKLESHW AR- JHAGADIA)	ALONG	4687.98	4755.21		0.375	25.21	0.0025
7	a i c t n v v ir c O N	infrastructure in Chavaj, Hingalia, Nabipur and its surrounding areas. The project will require extension of steel pipeline from valve chamber at VNGL & To develop PNG infrastructure in Chavaj, Paguthan and back feed existing PE intwork at Rehadpore illageRadhpore and install DPRC's at Chavaj, Hingalia and labipur	50 & 41	SH(BHARUC H- TANKARIYA- PALEJ)	ALONG:	20.45	991.86	971.41	0.914	886.26	0.0888
77	in C N s.r. property of the character of	o develop PNG ifrastructure in havaj, Hingalla, abipur and its arrounding areas. The oject will require itension of steel peline from valve amber at VNGL & i develop PNG restructure in lavaj, Paguthan and ok feed existing PE twork at Rahadpore ageRadhpore and tall DPRC's at avaj, Hingalla and bipur	50 &	SH(BHARUC H- TANKARIYA- PALEJ)	ACROSS	991.86	1007.85	15.99	0.914	14.62	0.0015

ſ	1	2	3	4	5	6	7	1			
Γ		To develop PNG	 	-	 	 		8	9	10	11
	78	infrastructure in Chavaj, Hingalla, Nabipur and its surrounding areas. The project will require extension of steel pipeline from valve chamber at VNGL & To develop PNG infrastructure in Chavaj, Paguthan and back feed existing PE network at Rahadpore villageRadhpore and install DPRC's at Chavaj, Hingalla and Nabipur	50 & 42	SH (BHARUCH- TANKARIYA- PALEJ)	ALONG	1007.85	1956.20	948.35	0.914	867.17	0.0867
	79	To develop PNG infrestructure in Chavaj, Hingalla. Nabipur and its surrounding areas. The project will require extension of steel pipeline from valve chamber at VNGL & To develop PNG infrastructure in Chavaj, Paguthan and back feed existing PE natwork at Rahadpore villageRadhpore and install DPRC's at Chavaj, Hingalla and Nabipur	50 & 42	SH(BHARUC H- TANKARIYA- PALEJ)	ALONG	2078.12	3275.10	1196.98	0.914	1094.52	0.1095
80	i di si di s	To develop PNG infrastructure in Chavaj, Hingalla, Nabipur and its surrounding areas. The project will require extension of steel pipeline from valve chambier at VNGL Radhpore and Install DPRC's at Chavaj, tingalia and Nabipur	50	SH(BHARUC H- TANKARIYA- PALEJ)	ALONG	3275.10	7360.20	4085.10	0.914	3735.42	0.3735
81	in C N st per pict Ri Di Hi	o develop PNG ifrastructure in thatvaj, Hingalla, labipar and its urrounding areas. The roject will require stension of steel ipeline from valve namber at VNGL adhpore and install PRC's at Chavaj, ingalia and Nabipur	50	SH(BHARUC H- TANKARIYA- PALEJ)	ACROSS	7360.20	7383.34	23.14	0.914	21.16	0.0021
82	inf Cl Na \$U pro ext pip	o develop PNG freatructure in havai, Hingalia, abipur and its irrounding areas. The oject will require tension of steel beline from valve amber at VNGL	50	SH(BHARUC H- TANKARIYA- PALEJ)	ALONG	7383.34	7395.66	12.32	0.914	11.27	0.0011

	1 2	3	4	5	6	7	8		·	···
	Radhpore and install OPRC's at Chavaj.				 	 	 -	9	10	11
	Hingalia and Nabipur		1	Ì		ĺ	ļ	-		1
8	To develop PNG infrastructure in Chava; Hingalla, Nabipur and its surrounding areas. The project will require extension of steel pipeline from valve	50	ASPHALT ROAD (DAYADARA-	ACROSS	7395.66	7419.39	23.73	0.914	21.70	0.0022
	chamber at VNGL Radhpore and install DPRC's at Chavaj, Hingalia and Nabipur To develop PNG		NABIPUR)							
84	infrastructure in Chavaj, Hingalla, Nabipur and its surrounding areas. The project will require extension of steel pipeline from valve chamber at VNGL Radhpore and install DPRC's at Chavaj, Hingalla and Nabipur	50	ASPHALT ROAD (DAYADARA- NABIPUR)	ALONG	7419.39	10395.01	2975.62	0.914	2720.91	0.2721
85	To develop PNG Infrastructure in Chavaj, Hingalla, Nabipur and its surrounding areas. The project will require extension of steel pipeline from valve chamber at VNGL Radhpore and instell DPRC's at Chavaj, Hingalla and Nabipur	50	ASPHALT ROAD (DAYADARA- NABIPUR)	ACROSS	10562.90	10581.74	18.84	0.914	17.23	0.0017
86	To develop PNG infrastructure in Chavaj, Hingalla, Nabipur and its surrounding areas. The project will require extension of steel pipeline from valve chamber at VNGL Radhpore and install DPRC's at Chavaj, Hingalla and Nabipur	50	ASPHALT ROAD (DAYADARA- NABIPUR)	ALONG	10581.74	10924.01	342.27	0.914	312.97	0.0313
87	To develop PNG infrastructure in Chavaj, Hingalia, Nabipur and its surrounding areas. The project will require extension of steel pipeline from valve chamber at VNGL Radhpore and install DPRC's at Chavaj, Hingalia and Nabipur	50	NH (AHEMDABA D TO MUMBAI)	ACROSS	11760.13	11820.13	60.00	0.914	54.86	0.0055

Γ	1 2	3	T 4	5		-		· · · · · · · · · · · · · · · · · · ·		
	To develop PNG	+ -			6	7	8	9	10	11
The state of the s	infrastructure in Chavaj, Hingalla, Nabipur and its surrounding areas. The project will require extension of steel pipeline from valve chamber at VNGL Radhpore and install DPRC's at Chavaj, Hingalla and Nabipur	51	ASPHALT ROAD (DAYADARA NABIPUR)	AL ONG	0.00	1804 35	1804.35	0.457	824.95	0.0825
	To develop PNG infrastructure in Chavaj, Hingalla, Nabipur and its surrounding areas. The project will require extension of steel pipeline from valve chamber at VNGL Radhpore and install DPRC's at Chavaj, Hingalla and Nabipur	52	ASPHALT ROAD (DAYADARA- NABIPUR)	ACROSS	0.00	28.42,	28.42	0.305	8.66	0.0009
90	To develop PNG infrastructure in Kara village of Bharuch district. It is proposed to extend 125 mm PE pipeline from planned PE pipeline Kondh-Vataria	53	SH-13 (ANKLESHW AR- NETRANG)	ALONG	0.00	7.33	7.33	0.375	2.75	0.0003
91	To develop PNG infrastructure in Kara village of Bharuch district. It is proposed to extend 125 mm PE pipeline from planned PE pipeline Kondh-Vataria	53	SH-165(VALIA TO MANGROL)	ACROSS	10749.8	10770.09	20.29	0.375	7.61	0.000e
92	To develop PNG infrastructure in Kara village of Bharuch district. It is proposed to extend 125 mm PE pipeline from planned PE pipeline Kondh-Vateria	53	SH-165(VALIA TO MANGROL)	ALONG	10770.09	11550.00	779.91	0.375	292.47	0.0292
93	To develop PNG infrastructure in Kara village of Bharuch district. It is proposed to extend 125 mm PE pipeline from planned PE pipeline Kondit-Vataria	54	SH-185(VALIA TO MANGROL)	ACROSS	0 `	15.00	16:00	0.375	6.00	0.0006
94	To develop PNG infrestructure in Panoli and Umerwada:village of Bhatuch district	56	ASPHALT ROAD (ANKLESHW AR-PANOLI)	ALONG	0.00	2996,14	2995.14	0.375	1123.55	0.1124
95	To develop PNG Infrastructure in Panoli and Urnarwada village of Bharuch district		ASPHALT ROAD (ANKLESHW AR-PANOLI)	ACROSS	2996.14	3016.09	19.95	0.375	7.48	0.0007

1	2	3	4	5	T 6	7	8	9		
96	and Umarwada village of Bharuch district	55	ASPHALT ROAD (ANKLESHW AR-PANOLI)	ALONG	3016.09	3203.35	187.26	0.375	70 22	0.0070
97	and Umarwada vitlage of Bharuch district	55	ASPHALT ROAD (ANKLESHW AR-PANOLI)	ACROSS	3203.35	3221.95	18.60	0.375	6.97	0.0007
98	To develop PNG infrastructure in Panoli and Umarwada village of Bharuch district	55	ASPHALT ROAD (ANKLESHW AR-PANOLI)	ALONG	3221.95	4055.41	833.46	0.375	312.55	0.0313
99	To develop PNG infrastructure in Panoli and Umarwada village of Bharuch district	55	ASPHALT ROAD (ANKLESHW AR-PANOLI)	ALONG	4176.75	10616.86	8440.11	0.375	2415.04	0.2415
100	To develop PNG infrastructure in Panoli and Urnarwada village of Bharuch district	55	ASPHALT ROAD (ANKLESHW AR-PANOLI)	ALONG	10616. 86	10993.00	376.14	0.375	141.05	0.0141
101	To develop PNG infrastructure in Panoli and Umarwada village of Bharuch district	56	ASPHALT ROAD (ANKLESHW AR-PANOLI)	ACROSS	0.00	19.94	19.94	0.375	7.48	0.0007
102	To develop PNG Infrastructure in Panoli and Umanwada village of Sharuch district	56	ASPHALT ROAD (ANKLESHW AR-PANOLI)	ALONG	19.94	399.00	379.06	0.375	142.15	0.0142
103	To develop PNG Infrastructure in Panoli and Umarwada village of Bharuch district	57	ASPHALT ROAD (ANKLESHW AR-PANOLI)	ACROSS	0.00	25.02	25.02	0.375	9.38	0.0009
			•				90821.42		43891.59	4.389 2

Government of Gujarat, Forest & Environment Department, Gandhinagar vide its circular mentioned under Reference has delegated powers under "General Approval" to the concerned divisional forests officer to grant approval under forest (Conservation) act. 1980 for laying of underground optical fibre cables, telephone lines, drinking water, electric lines, CNG/PNG pipeline and Petroleum pipeline along the roads within existing right of way not falling in National Parks and Wildlife sanctuaries, without felling of trees, where the maximum size of the trench is not more than 2.00 meter depth and 1.00 meter width subject to certain conditions.

AND whereas the user agency while applying and through the documents submitted has confirmed that its FCA proposal falls along the roads within existing right of way not falling in National Parks and Wildlife sanctuaries without felling of trees, where the maximum size of the trench is not more than 2.00 meter depth and 1.00 meter width and hence fulfils all the above specified conditions and eligibility, as laid down in circular mentioned at ref (1) and falls under the category of proposal eligible for "general approval".

AND whereas having verified on the site that above facts are correct and fulfils the above specific conditions of "general approval" the following order is issued.

In view of the above the undersigned is pleased to convey its "in principle" approval for diversion of 4.3892 Ha, of Protected Forest Land in Bharuch District subject to the following conditions:

- The permission is granted only for use of the forest land for the purpose specified in the proposal. The legal status of the forest land shall remain unchanged.
- The cost of NPV Registration Fees, Processing Fees etc. as per Demand Note attached herewith shall be deposited in advance with the Forest Department by the project authority.
- The User Agencies shall generate challen through OSMFWC portal before making payment for Stage-II
 Clearance process. All the fund shall be deposited through OSMFWC portal by the User Agency.
- In future if any amount regarding Net present Value (NPV) of Compensatory Afforestation (CA) is required the user agency is bounded to pay in favour of Deputy Conservator of Forest.
- The forest land shall not be used for any purpose other than that specified in the FCA proposal.
- The user agency will have to obtain permission from the undersigned for carrying out any maintenance works in future.
- The user agency will have to make good the forest land after use / maintenance work. No tree shall be cut.
- The user agency will be liable to make good any loss to Forests / Environment caused due to the use of the said land by the user agency.
- The user agency will seek permission from the Road & Building Department / Science & Technology Dept. Sachivalaya, Gandhinagar if required so.
- The line will be laid underground in a trench of depth of 1.2 meters and width of 0.65 meter in between rows of road side plantation.
- The User Agency shall submit the details regarding compliance of MoEF's guideline dated 03.08:2009 and 05.02.2013 with regard to the Scheduled Tribe & Other Forest Dwellers (Recognition of Forest Rights) Act 2006.
- 12. The additional conditions under chapter-5 of Forest (Conservation) Act 1980 shall be applicable to this proposal as the Government of Gujarat's Resolution No.FCA-1013/11-10/11/SF-24/F Dated 12.06.2015. The user agency shall comply additional condition as per the aforementioned resolution.

 Any other condition which the Nodal Officer (FCA) / the State Government may stipulate from time to time.

After receipt of the compliance report on the fulfillment of condition no. (2) (3) (5) & (12) mentioned above from you, order of formal approval will be issued by this Department.

Yours Faithfully

(B. J. Leuva)

Deputy Conservator of Forests

Social Forest Division

Bharuch

Copy Submitted to : The Principle Secretary, Foresst & Environment Department, Gujarat State, Gandhinagar

Copy Submitted to : Additional Principle Chief Conservator of Forests land, Gujarat State, Gandhinagar

Copy Submitted to: Conservator of Forests, Bharuch Social Forest Circle, Bharuch